Name ________________________________________________

Midterm Exam, Math 167, Spring 2007

1. Give the name of the property shown:
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distributive property
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zero-product property
2. Multiply and simplify:
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3. Divide.  Write the quotient and the remainder.
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4. Simplify:
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5. Simplify and reduce.  Use all positive exponents.
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6. Solve for x:
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No solution
7. Solve for x.  If your solution is complex, write in standard form.  
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8. Write in standard form: 
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9. Solve for x:
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x=1
10. Solve for x:
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11. Use set notation to write the solution set for: 
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12. You are given the slope of a line to be 
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 and passes through the point (-1,3).  Find the equation of the line, and then find the equation of the line perpendicular to this line and passing through the same point.
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13. Find the equation of the circle with endpoints of a diameter at (4,3) and (0,1).
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14. A contractor orders 8 cubic yards of premixed cement, all of which is to be used to pour a patio which will be 4 inches thick.  If the length of the patio is specified to be twice the width, what will be the patio dimensions? (Hint: 1 cubic yard = 27 cubic feet)
18 x 36
15. The purity of gold is measured in karats, with pure gold being 24 karats.  Other purities of gold are proportional parts of pure gold.  Thus 18 karats is 18/24 or 75% pure gold.  How much 12-karat gold should be mixed with pure gold to obtain 60 grams of 16-karat gold?

40 oz. of 12-karat gold
16. Patrick, by himself, can paint four rooms in 10 hours.  If he hires April to help, they can do the same job together in 6 hours.  If he lets April work alone, how long will it take her to paint four rooms?

15 hrs
Bonus Problems

17. A motorboat maintained a constant speed of 15 mph relative to the water in going 10 miles upstream and then returning.  The total time for the trip was 1.5 hours.  Use this information to find the speed of the current.

5 mph                                                     
18. Solve for x:
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x=25
19. Solve for x:
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(Hint: make a substitution and factor by grouping.)
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